

... $V = \{x+iy \mid \underbrace{\operatorname{Re}(x+iy)}_{f_1(x,y)} + i \underbrace{\operatorname{Im}(x+iy)}_{f_2(x,y)} \in U\}$...

... $F: C \rightarrow C$, $C \rightarrow C$... $V \subset C$...

... $f = f_1 + if_2$... $f^{-1}(U)$...

...

... $V = f^{-1}(U)$... $x+iy = z_0 \in V$...

... $U \ni U_0 = f(z_0) = f_1(z_0) + if_2(z_0)$... U_0 ...

... U_0 ... U_0 ...

... $(x,y) \in U \iff \begin{cases} |x - f_1(z_0)| < \epsilon \\ |y - f_2(z_0)| < \epsilon \end{cases}$...

... $\begin{cases} |f_1(x,y) - f_1(x_0,y_0)| < \epsilon \\ |f_2(x,y) - f_2(x_0,y_0)| < \epsilon \end{cases} \iff \begin{cases} |x - x_0| < \delta \\ |y - y_0| < \delta \end{cases}$...

...

... $x+iy \in f^{-1}(U) \iff f(x+iy) \in U$... $(f_1(x,y), f_2(x,y)) \in U$...